i¢ REH BEET
20 EEH BY HIZK HOTTOR

30 MOBE 1:IMK O,28:IMK 1,001IKK 2,811HK 3,24:BOEDER 15:FAFER 2:FEN 3
tFOR a=1 TO ZS:iFREINT STEIMNO#I40, 2070 HENT

40 FOR z=0 TO 1ip=21x=244+2k 1521 yaZZ0: ryu30 1 rye35: COSUR 90 HEXT
Ly=200re=32 i rxeTOiTy= 13000508 30:iFOE =0 TO 1:FOE w=0 TO 1ip=-1#4
rEEZ4-wk [ irysry i n=20i4z 260  y=220-uw 10 - GOSUE B0:NELT w.zip=11x=320
tp=lTd ira=28i ry=40: GOSUE 30

50 FOR a=Z&d TO ITE STEF Z:PLOT a,230+EHD=4, 1-KEXT

GO FOE a=-30 TO 30 STEF J:FLOT 320+a,372-FNDES: DEAN 320+axl. G, FZ0FNEXT

7o PLOT 320, 1209DEAWE 12,4:DRAWE 16,0:DEANE 12, -4

80 GOTO &g

83 FOR a=0 TO l:ry=ry-c¥2irx=rx-cil!d=ry rx!ir2=rx¥rx

1FOF a=0 TO rx STEF Zob=fkSQE(rZ-azal iFOE de=| TO 1 51‘!]’ 2
tPLOT wedia,yt+b, 1+oxp:DRANE O, -22b:NEXT 4,2, c:EETURN



10 EEH EERLE
af EBEH BY HICK BHUTTOHR

33 MODE 1:INK O, 2601NK 1,05 IKE 2.67IHE 3, |5:BORDER B:PAPER 2:PEN 3
IFOR a=l TO 25:FEINT STEINGRL40, 207 MEXT

40 FOE =0 TO 1rp=ZixeZ00+7%240: y=220: ru=30: ry=30:GOSUR B0 NEXT
TyRZ00 =320 re= 130 ry=00: G0S0E Sd:ty=180re= 100 ry=b01 p=1 :GOIUE S0
srx=110try=40:y=200 1 p=2 160508 S0 FOR a=i80 TO 240 STEF 2:PLOT 200.a
IDEANE Z240,0,3: EELT

50 FOE 2=0 TO 1:FOF w=0 TO lip==l+HirX=F4-u% |2 Fy=r¥i Xe2T0+2E1001yaZ 10
LEOSUE BOHEXT v, 2ipelresd@0:y=1Tdira=30:ry=34 1 GOSUE S0

B0 FOR a=0 T4 &G0 STEF 2:FOE z=0 TO 1:PLOT Z240+zx100+a, 243+ENDx4
:DEANE O, 84EHDx4, 1 1HEXT Z.8

TO FOE a==[00 TO 3D STEP 3:h=SQR(10200-axa )l A:FLOT 320+a,302+k-ENDxE, 1
DRAW AZ204a%D. 8, 280+h -HEXT

80 QOTO Bl

g FOR e=0 TO liry=ry-cdZir¥eprx-cxZriory/TyipZaryxey i FOE a=0 TOQ py STEF 2
h=fxEQRirZ-azal :FOR d=—1 TO & STEF Z:PLOT n+b, y+dea, 1+ocxp: DRANE -2x%.0
'REXT 4,a,c:EETUER



